
HOIST RINGS



COMPONENTS > TOOLS & AUXILIAIRES

CA
D

 re
fe

re
nc

e 
po

in
t

COMPONENTS > TOOLS & AUXILIAIRES

HOIST RINGS
EYEBOLTS

REF G A B D E F H K TL (Kgm) P (Kg) W (Kg) Spare parts 
SHM0001 M8x1,25 10,9 32,0 9,7 12,5 67,8 46,7 19,0 1,0 400 0,17 SHMR0001
SHM0002 M10x1,50 10,9 30,0 9,7 17,5 67,8 46,7 19,0 1,7 450 0,17 SHMR0002
SHM0003 M12x1,75 22,4 60,5 19,0 19,0 121,4 89,4 38,1 3,8 1050 1,08 SHMR0003
SHM0004 M16x2,00 22,4 56,5 29,0 29,0 121,4 89,4 38,1 8,2 1900 1,12 SHMR0004
SHM0005 M20x2,50 22,4 52,5 34,0 34,0 121,4 89,4 38,1 13,6 2150 1,19 SHMR0005
SHM0006 M24x3,00 35,6 69,0 37,0 37,0 165,6 130,6 58,7 31,0 4200 3,10 SHMR0006
SHM0007 M30x3,50 44,5 107,4 41,9 41,9 221,7 165,1 81,0 60,0 7000 6,30 SHMR0007
SHM0009 M36x4,00 57,2 166,5 63,5 63,5 316,7 217,2 106,4 100,0 11000 15,50 SHMR0009
SHM0010 M42x4,50 57,2 160,5 68,0 68,0 316,7 217,2 106,4 100,0 12500 16,00 SHMR0010
SHM0011 M48x5,00 57,2 154,5 82,4 82,4 316,7 217,2 106,4 100,0 13500 16,80 SHMR0011
SHM0012 M64x6,00 76,2 210,0 101,6 101,6 419,1 297,6 146,0 290,0 22500 40,00 SHMR0012

HOIST RINGS - CE

Pivots and swivels to compensate for pitch, roll and sway 
when lifting heavy or unbalanced loads.
High strength alloy steel with minimum tensile strenght of 
1,250 MPa (125 kg/mm²).
Certified heat treatment with 100% Magnaflux inspection.
Corrosion resistant plating.
Maximum operating temperature 200°C
Safety factor is 5 times the rated load in any direction.

standard tolerance: ±0,8 mm
E = the use of spacers between bushing flange and mounting 
surface is not recommended as this will reduce the safety 
load rating.
TL = recommended torque load +25% - 0.
P = rated
W = weight

HOIST RINGS

712 store.dme.net

REF A D1 D2 L H (N) K M
RM08 20 20 36 13,0 36 1400 8 M8 x 1,25
RM10 25 25 45 17,0 45 2300 10 M10 x 1,50
RM12 30 30 54 20,5 53 3400 12 M12 x 1,75
RM14 35 35 63 27,0 62 4900 14 M14 x 2,00
RM16 35 35 63 27,0 62 7000 14 M16 x 2,00
RM18 40 40 72 30,0 71 9000 16 M18 x 2,50

REF A D1 D2 L H (N) K M
RM20 40 40 72 30,0 71 12000 16 M20 x 2,50
RM22 45 45 92 34,0 90 15000 18 M22 x 2,50
RM24 50 50 90 36,0 90 18000 20 M24 x 3,00
RM27 50 50 90 36,0 90 18000 20 M27 x 3,00
RM30 65 60 108 45,0 109 36000 24 M30 x 3,50
RM36 75 70 126 54,0 128 51000 28 M36 x 4,00

RM

1.7131 60 HRC

SHM - SHMR



COMPONENTS > TOOLS & AUXILIAIRES
CA

D
 re

fe
re

nc
e 

po
in

t
COMPONENTS > TOOLS & AUXILIAIRES

REF A B D E F G H K TL (Kgm) P (Kg) W (Kg)
SHR0001 0,43 1 1/4” 0,38 9/16 2,67 5/16”-18 1,84 0,75 1 360 0,15
SHR0002 0,43 1 1/4” 0,38 9/16 2,67 3/8”-16 1,84 0,75 1,6 450 0,15
SHR0003 0,88 2 3/8” 0,75 3/4 4,78 1/2”-13 3,52 1,5 3,8 1130 1,05
SHR0004 0,88 2 1/4” 0,75 1 4,78 5/8”-11 3,52 1,5 8,3 1810 1,10
SHR0005 0,88 2 1/8” 0,75 1 4,78 3/4”-10 3,52 1,5 13,8 2260 1,16
SHR0006 1,44 2 11/16” 1 1 1/2” 6,52 1-8 5,14 2,31 31,7 4525 3,17
SHR0007 1,75 4 1/4” 1,25 1 7/8” 8,73 1 1/4”-7 6,5 3,19 64,8 6785 6,34

Repair kit - screw & retainer ring                  
REF G                  
SHRR0001 5/16-18                  
SHRR0002 3/8-16                   
SHRR0003 1/2-13                  
SHRR0004 5/8-11                  
SHRR0005 3/4-10                  
SHRR0006 1-8                  
SHRR0007 1 1/4-7                  

HOIST RINGS - CE

Pivots and swivels to compensate for pitch, roll and sway 
when lifting heavy or unbalanced loads.
High strength alloy steel with minimum tensile strenght of 
1,250 MPa (125 kg/mm²).
Certified heat treatment with 100% Magnaflux inspection.
Corrosion resistant plating
Maximum operating temperature 200°C
Safety factor is 5 times the rated load in any direction.

standard tolerance: ±0,8 mm
E = the use of spacers between bushing flange and mount-
ing surface is not recommended as this will reduce the 
safety load rating.
TL = recommended torque load +25% - 0
P = rated
W = weight

HOIST RINGS

713store.dme.net

SHR - SHRR



COMPONENTS > TOOLS & AUXILIAIRES

CA
D

 re
fe

re
nc

e 
po

in
t

COMPONENTS > TOOLS & AUXILIAIRES

HOIST RINGS
SIDE PULL HOIST RINGS - CE

for M8 + M10 for M12 - M48

For lifting molds, tools and dies. Full 
swivel and pivot action flip and turn 
parts without unhooking. 200% proof 
tested. Safety factor is 5 times the rated 
load capacity. High quality alloy steel, 
finish black oxide.

TL = recommended torque load +25% - 0

714 store.dme.net

REF P (Kg) A B C D E F G H I J K L M N O TL
SHSP-0001 325 M8x1,25 33 16 21 3 14 8 25 25 25 44 76 19 13 13 5
SHSP-0002 500 M10x1,5 33 20 21 3 14 8 25 25 25 44 76 19 13 13 10
SHSP-0003 725 M12x1,75 48 24 35 4 21 13 44 38 86 51 120 32 19 22 20
SHSP-0004 1400 M16x2 48 32 48 4 21 13 44 38 86 51 120 32 19 22 40
SHSP-0005 2290 M20x2,5 59 40 48 6 26 16 57 51 102 67 145 44 25 29 70
SHSP-0006 3050 M24x3 59 48 83 6 26 16 57 51 102 67 145 44 25 29 140
SHSP-0007 4850 M30x3,5 90 60 83 9 42 27 95 76 196 111 265 76 49 48 350
SHSP-0009 7500 M36x4 90 72 83 9 42 27 95 76 196 111 265 76 49 48 550
SHSP-0010 8700 M42x4,5 90 84 83 9 42 27 95 76 196 111 265 76 49 48 800
SHSP-0011 10000 M48x5 90 96 83 9 42 27 95 76 196 111 265 76 49 48 1200

SHSP



COMPONENTS > TOOLS & AUXILIAIRES
CA

D
 re

fe
re

nc
e 

po
in

t
COMPONENTS > TOOLS & AUXILIAIRES

DSR: Class > 8CE
SS DSR: Class > 6 CE

DOUBLE SWIVEL RING

REF
Thread 

Ø
SF 5:1

WLL (t)
SF 4:1

WLL (t)
Standard
L1 (mm)

Torque
N.m

S1
(mm)

S2
(mm)

A
(mm)

B
(mm)

C
(mm)

D
(mm)

E
(mm)

F
(mm)

G
(mm)

H
(mm)

Weight
(KG)

DSRM5UP M5x0.8 0.07 0.10 15 3 8 16 32 30 30 38 27 14 53 9,5 0.3
DSRM6UP M6x1 0.15 0.20 15 4 8 16 33 30 30 38 27 14 53 9,5 0.3
DSRM8UP M8x1.25 0.40 0.50 15 6 8 16 33 30 30 38 27 14 53 9,5 0.3
DSRM10UP M10x1.50 0.70 0.90 18 10 8 16 33 30 30 38 27 14 53 9,5 0.3
DSRM12UP M12x1.75 1.05 1.30 21 15 8 16 33 30 30 38 27 14 53 9,5 0.3
DSRM14UP M14x2 1.40 1.80 23 30 8 20 33 40 45 53 38 17 76 13 0.9
DSRM16UP M16x2.5 2.00 2.30 27 50 8 20 45 40 45 53 38 17 76 13 0.9
DSRM18UP M18x2.5 2.30 2.30 27 70 8 20 45 40 45 53 38 17 76 13 0.9
DSRM202T5UP M20x2.5 2.50 2.50 30 100 8 20 45 40 45 53 38 17 76 13 0.9
DSRM203T2UP M20x2.5 2.90 3.20 25 100 14 24 62 55 60 83 55 25 115 19 2.6
DSRM22UP M22x2.5 3.50 4.50 33 120 14 24 62 55 60 83 55 25 115 19 2.6
DSRM24UP M24x3 4.40 5.50 36 160 14 24 62 55 60 83 55 25 115 19 2.6
DSRM27UP M27x3 5.70 6.00 40 200 14 24 62 55 60 83 55 25 115 19 2.6
DSRM306T3UP M30x3.5 6.00 6.30 45 250 14 24 62 55 60 83 55 25 115 19 2.6
DSRM308TUP M30x3.5 6.70 8.00 45 250 14 24 80 77 78 83 71 26 141 28 5.4
DSRM36UP M36x4 8.00 8.50 54 320 14 24 80 77 78 83 71 26 141 28 5.4
DSRM42UP M42x4.5 8.50 9.00 63 400 14 24 80 77 78 83 71 26 141 28 5.4

HOIST RINGS

Swivels under the load
Designed for loads in rotation with Axial 
Shackle
Two ways of tightening; open-ended 
spanner or allen key
Axial shackle position
Standard in Metric and Inch
Stainless steel, adaptor, centering fea-
ture and special thread options available 
as special order

715store.dme.net

DSR - UP



COMPONENTS > TOOLS & AUXILIAIRES

CA
D

 re
fe

re
nc

e 
po

in
t

COMPONENTS > TOOLS & AUXILIAIRES

HOIST RINGS

Class > 8CE

DOUBLE SWIVEL SHACKLE

REF
Thread 

Ø
SF 5:1

WLL (t)
SF 4:1

WLL (t)
Standard
L1 (mm)

Torque
N.m

S
(mm)

A
(mm)

B
(mm)

C
(mm)

D
(mm)

E
(mm)

F
(mm)

G
(mm)

Weight
(KG)

DSSM24UP M24x3 4.50 5.50 36 160 19 61 31 70 104 73 149 33 5.4
DSSM30UP M30x3.5 7.70 8.50 45 250 19 61 31 70 104 73 149 33 5.5
DSSM33UP M33x3.5 8.50 10.50 50 250 19 61 31 70 104 73 149 33 5.5
DSSM36UP M36x4 11.00 12.00 54 320 19 61 31 70 104 73 149 33 5.5
DSSM36X3UP M36x3 11.00 12.00 54 320 19 61 31 70 104 73 149 33 5.5
DSSM39UP M39x4 12.00 14.00 58 320 19 61 31 70 104 73 149 33 5.7
DSSM42UP M42x4.5 13.00 15.00 63 400 19 61 31 70 104 73 149 33 5.8
DSSM42X3UP M42x3 13.00 15.00 63 400 19 61 31 70 104 73 149 33 5.8
DSSM45UP M45x4.5 14.50 16.00 63 400 19 61 31 70 104 73 149 33 5.9
DSSM48UP M48x5 17.00 20.00 68 600 19 79 38 90 125 91 182 45 11.0
DSSM48X3UP M48x3 17.00 20.00 68 600 19 79 38 90 125 91 182 45 11.0
DSSM48X4UP M48x4 17.00 20.00 68 600 19 79 38 90 125 91 182 45 11.0
DSSM52UP M52x5 19.00 20.00 68 600 19 79 38 90 125 91 182 45 11.2
DSSM56UP M56x5.5 22.00 25.00 78 600 19 79 38 90 125 91 182 45 11.3
DSSM56X4UP M56x4 22.00 25.00 78 600 19 79 38 90 125 91 182 45 11.4
DSSM64UP M64x6 25.00 32.10 90 600 19 79 38 95 125 91 182 45 12.2
DSSM64X4UP M64x4 25.00 32.10 90 600 19 79 38 95 125 91 182 45 12.2
DSSM72UP M72x6 22.00 25.00 90 600 19 79 38 95 125 91 182 45 14.0
DSSM72X4UP M72x4 22.00 25.00 90 600 19 79 38 95 125 91 182 45 14.0
DSSM80UP M80x6 25.00 32.10 90 600 19 79 38 100 125 91 182 45 15.0
DSSM90UP M90x6 25.00 32.10 90 600 19 79 38 100 125 91 182 45 15.5
DSSM100UP M100x6 25.00 32.10 90 600 19 79 38 110 125 91 182 45 16.5

•	 Specially Designed for Lifting and 
Turning Under Heavy Load

•	 Large shackle for easy secure 
connection directly to crane hook

•	 Compact and Ergonomic; requires 
less clearance

•	 Tightens with allen wrench
•	 Double articulation allows perfect 

alignment with the sling
•	 Standard in Metric and Inch
•	 Stainless Steel, adaptor and special 

thread options available as special 
order

716 store.dme.net

DSS-UP



COMPONENTS > TOOLS & AUXILIAIRES
CA

D
 re

fe
re

nc
e 

po
in

t
COMPONENTS > TOOLS & AUXILIAIRES

HOIST RINGS

Class > 8CE

SWIVEL EYE BOLT

•	 Swivels under the load
•	 Equipped with an automatic position 

recovery system
•	 Tightens with Allen Wrench
•	 High WLL in all directions
•	 Optimizes orientation in the direction 

of the sling
•	 Standard in Metric and Inch
•	 Adaptor, centering feature and 

special thread options available as 
special order

REF Thread
SF 5:1

WLL (t)
SF 4:1

WLL (t)
Standard 
L1  (mm)

Torque 
N.m (Nm)

S
(mm)

A
(mm)

B
(mm)

C
(mm)

D
(mm)

Weight
(kg)

SEBM8UP M8x1.25 0.40 0.50 14 6 20 6 30 34 60 57 0.24
SEBM10UP M10x1.5 0.50 0.70 17 10 20 6 30 34 60 57 0.24
SEBM12UP M12x1.75 0.80 0.90 21 15 20 6 30 34 60 57 0.24
SEBM16UP M16x2 1.40 1.80 27 50 35 8 38 45 88 80 0.8
SEBM20UP M20x2.5 2.00 2.70 30 100 35 8 38 45 88 80 0.8
SEBM243T6UP M24x3 3.20 3.80 36 160 50 14 38 45 88 80 0.8
SEBM244T2UP M24x3 3.40 4.20 36 160 50 14 58 70 115 106 2.6
SEBM30UP M30x3.5 5.50 6.30 45 250 50 14 58 70 115 106 2.7
SEBM36UP M36x4 9.00 11.00 54 320 70 14 83 94 168 155 7.0
SEBM42UP M42x4.5 12.00 15.00 63 400 70 14 83 94 168 155 7.0
SEBM48UP M48x5 15.00 16.00 68 600 70 19 80 94 168 155 7.0

717store.dme.net

SEB-UP



COMPONENTS > TOOLS & AUXILIAIRES

CA
D

 re
fe

re
nc

e 
po

in
t

COMPONENTS > TOOLS & AUXILIAIRES

HOIST RINGS

Class > 8CE

TRIPLE SWIVEL SHACKLE

•	 The hook does not scrape the tool 
when in traction at 90°

•	 Three free articulations
•	 Very low overhang designed for total 

safety
•	 Perfectly symmetrical
•	 Two ways of tightening: either by 

open-ended spanner, or by allen key 
for total quality

•	 Improved stability with TSR C 
through centering section

•	 High tensile
 
P = max load in Newton 
SF = safety factor  
KT = chain classification number 
TL = recommended tightening torque in 
NewtonMetre

718 store.dme.net

REF P S.F. KT M/ø TL/Nm L1 X S1 S2 A B C D E F G
TSRM8 4000 5 4 M8x1,25 6 14 18 8 16 33 56 30 41 25 10 58
TSRM10 7000 5 5 M10x1,50 10 17 18 8 16 33 56 30 41 25 10 58
TSRM12 10500 5 6 M12x1,75 15 21 18 8 16 33 56 30 41 25 10 58
TSRM14 14000 5 6 M14x2 30 23 24 8 20 45 76 45 56 37 14 79
TSRM16 20000 5 7 M16x2 50 27 24 8 20 45 76 45 56 37 14 79
TSRM18 23000 5 7 M18x2,5 70 27 28 8 20 45 76 45 56 37 14 79
TSRM20 25000 5 9 M20x2,5 100 30 28 8 20 45 81 45 56 37 14 79
TSRM22 30000 5 9 M22x2,5 120 33 45 14 24 62 105 60 80 45 20 106
TSRM24 40000 5 11 M24x3 160 36 45 14 24 62 105 60 80 45 20 106
TSRM27 50000 5 13 M27x3 160 36 45 14 24 62 105 60 80 45 20 106
TSRM30 63000 5 14 M30x3,5 250 45 45 14 24 62 105 60 80 45 20 106
TSRM36 100000 5 18 M36x4 320 54 54 19 30 81 140 80 111 71 30 148
TSRM42 125000 5 20 M42x4,5 400 63 58 19 30 84 146 80 111 71 30 148
TSRM48 200000 4 26 M48x5 600 68 69 19 30 100 178 110 135 90 42 180
TSRM56 220000 4 36 M56x5,5 600 78 73 19 30 104 184 110 135 90 42 180

TSR



COMPONENTS > TOOLS & AUXILIAIRES
CA

D
 re

fe
re

nc
e 

po
in

t
COMPONENTS > TOOLS & AUXILIAIRES

Class > 8CE

DOUBLE SWIVEL LIFTING BOLT

•	 Two free articulations
•	 Very low overhang for improved 

safety
•	 Automatic realignment of the ring 

when in traction 90°
•	 Large support surface for a very high 

Resistance
•	 Two ways of tightening: either by 

open-ended spanner, or by allen key
•	 Improved stability with DSR C 

through centering section 
 
SF = safety factor  
KT = chain classification number 
TL = recommended tightening torque in 
NewtonMetre

HOIST RINGS

719store.dme.net

REF P S.F. KT M/ø TL/Nm L1 S1 S2 A B C E F G
DSPM8 4000 5 4 M8x1,25 6 15 8 16 33 56 30 19 19 58
DSPM10 7000 5 5 M10x1,50 10 18 8 16 33 56 30 19 19 58
DSPM12 10500 5 5 M12x1,75 15 21 8 16 33 56 30 19 19 58
DSPM14 14000 5 6 M14x2 30 23 8 20 45 76 45 25 27 79
DSPM16 20000 5 7 M16x2 50 27 8 20 45 76 45 25 27 79
DSPM18 23000 5 7 M18x2,5 70 27 8 20 45 76 45 25 27 79
DSPM20 25000 5 7 M20x2,5 100 30 8 20 45 81 45 25 27 79

DSP



COMPONENTS > TOOLS & AUXILIAIRES

CA
D

 re
fe

re
nc

e 
po

in
t

COMPONENTS > TOOLS & AUXILIAIRES

HOIST RINGS

Class > 8CE

CENTRAL SAFETY SHACKLE FOR DISPOSE ON PRESS

•	 Specially Designed for Lifting and 
Turning Loads up to metric 55 tons

•	 Large eye on the shackle for easy 
connections

•	 Compact and Ergonomic base; 
requires less clearance

•	 Easy to attach and use
•	 Individual engraving
•	 Delivered with a certificate of con-

formity for each shackle

REF
Work load limit 

(Tons) X min A B C D E F G H I J K
CSS20T 44,000 40 80 220 50 62 90 88 98 132 38 76 41
CSS32T 70,950 40 80 330 50 62 90 88 98 132 38 76 41
CSS55T 121,000 53 105 540 85 175 184 160 170 267 85 175 79.5

Drilling and screw specifications 
DIN912-12.9

REF

Drilling PTU/UTD Screw

øL M N
Useful min. 

thread depth QTY Thread Length
Head

N.mø Height
CSS20T 38 70 - 54 2 M36 100 54 36 600
CSS32T 38 70 130 54 4 M36 100 54 36 600
CSS55T 50 133 210 85 4 M48 100 72 48 600

720 store.dme.net

CSS



COMPONENTS > TOOLS & AUXILIAIRES
CA

D
 re

fe
re

nc
e 

po
in

t
COMPONENTS > TOOLS & AUXILIAIRES

Class > 8CE

DOUBLE SWIVEL HOOK

P = max load in N 
SF = safety factor  
KT = chain classification number 
TL = recommended tightening torque in 
NewtonMetre

HOIST RINGS

721store.dme.net

DSH

REF P S.F. M/ø TL/Nm L1 S1 S2 A B C D E F G
DSHM8 4000 5 M8x1,25 6 14 8 16 33 56 30 44 19 19 58
DSHM10 7000 5 M10x1,50 10 17 8 16 33 56 30 44 19 19 58
DSHM12 10500 5 M12x1,75 15 21 8 16 33 56 30 44 19 19 58
DSHM14 14000 5 M14x2 30 23 8 20 45 76 45 58 25 27 79
DSHM16 20000 5 M16x2 50 27 8 20 45 76 45 58 25 27 79
DSHM18 23000 5 M18x2,5 70 27 8 20 45 76 45 58 25 27 79
DSHM20 25000 5 M20x2,5 100 30 8 20 45 81 45 58 25 27 79



F

E

M
A

G

D

B

COMPONENTS > TOOLS & AUXILIAIRES

CA
D

 re
fe

re
nc

e 
po

in
t

COMPONENTS > TOOLS & AUXILIAIRES

•	 Rotates through 360º and pivots 90º
•	 Manufactured from alloy steel, quenched 

and tempered
•	 Tested in accordance with EN1677-1
•	 Certified by DGUV GS-OA 15-04
•	 Load rated parts are 100% magnaflux 

cracked detected
•	 Individual forged parts and cap screw are 

traceable to Test Certification
•	 Bolt threads are metric
•	 Proof tested to 2.5 times the WLL (Working 

Load Limit)
•	 Fatigue rated to 20,000 cycles at 1.5 times 

the WLL
•	 All YOKE Lifting points meet or exceed all 

the requirements of ASME B30.26
•	 Quick and simple assembly, just a tapped 

hole is required

Matric Thread
REF

Working 
load limit
(tonnes)

M

A B D E F G
Torque in

Nn
N.W
kg

thread

5:1 4:1 mm MM
8203004 0.40 0.50 M8x1.25 40 41 9 17 102 65 10 0.4
8203005 0.45 0.55 M10x1.5 40 41 9 11 102 65 16 0.5
8203005L 0.45 0.55 M10x1.5 40 41 9 26 102 65 16 0.5
8203010 1.05 1.30 M12x1.75 65 58 15 15 158 105 38 1.7
8203010L 1.05 1.30 M12x1.75 65 58 15 30 158 105 38 1.7
8203019 1.90 2.40 M16x2 65 58 15 20 158 105 81 1.8
8203019L 1.90 2.40 M16x2 65 58 15 35 158 105 81 1.8
8203021 2.15 2.70 M20x2.5 65 58 15 25 158 105 136 1.8
8203021L 2.15 2.70 M20x2.5 65 58 15 45 158 105 136 1.9
8203030 3.00 3.75 M20x2.5 85 73 22 25 204 134 136 4.0
8203030L 3.00 3.75 M20x2.5 85 73 22 45 204 134 136 5.2
8203042 4.20 5.25 M24x3 85 73 22 26 204 134 312 4.2
8203042L 4.20 5.25 M24x3 85 73 22 56 204 134 312 4.3
8203070 7.00 8.75 M30x3.5 100 80 25 81 218 160 637 6.6
8203110 11.00 13.75 M36x4 120 106 36 76 308 220 1005 15.0
8203125 12.50 15.60 M42x4.5 120 106 36 95 308 220 1005 16.0
8203135 13.50 16.90 M48x5 120 106 36 105 308 220 1350 16.0
8203155 15.50 19.40 M56x5.5 138 109 34 94 308 241 1350 19.1
8203223 22.30 27.90 M64x6 138 95 38 98 312 241 2847 23.0

UNC Thread
REF

Working 
load limit

(lbs)

M
Thread

Inch

A B D E F G
Torque in

FT.LBS
N.W
lbsINCH

8204004 800 5/16-18UNC 1.57 1.61 0.35 0.71 4.02 2.56 7 0.9
8204005 1000 3/8-16UNC 1.57 1.61 0.35 0.71 4.02 2.56 12 0.9
8204010 2500 1/2-13UNC 2.56 2.32 0.59 0.75 6.26 4.13 28 3.7
8204010L 2500 1/2-13UNC 2.56 2.32 0.59 1.226 6.26 4.13 28 3.7
8204019 4000 5/8-11UNC 2.56 2.32 0.59 0.74 6.26 4.13 60 4.0
8204019L 4000 5/8-11UNC 2.56 2.87 0.59 1.75 6.26 4.13 60 4.0
8204021 5000 3/4-10UNC 2.56 2.87 0.59 1.24 6.26 4.13 100 4.0
8204021L 5000 3/4-10UNC 2.56 2.87 0.59 1.73 6.26 5.28 100 4.2
8204030 7000 3/4-10UNC 3.35 2.87 0.59 0.87 8.03 5.28 100 8.8
8204030L 7000 3/4-10UNC 3.35 2.87 0.87 1.87 8.03 5.28 100 9.5
8204042 8000 7/8-9UNC 3.35 2.87 0.87 1.43 8.03 5.28 160 9.3
8204042L 8000 7/8-9UNC 3.35 2.87 0.87 2.37 8.03 5.28 160 9.7
8204045 10000 1-8UNC 3.35 2.87 0.87 1.36 8.03 5.28 230 9.5
8204045L 10000 1-8UNC 3.35 2.87 0.87 2.36 8.03 5.28 230 10.1
8204070 15000 1 1/4-7UNC 3.95 3.15 1.00 2.25 8.58 6.30 470 14.5
8204125 24000 1 1/2-6UNC 4.72 4.29 1.38 2.17 12.09 8.66 800 35.2
8204135 30000 2-4.5UNC 4.72 4.29 1.38 3.01 12.09 8.66 1100 35.2

HOIST RING WITH ALLOY STEEL WASHER

RFID 
equipped

HOIST RINGS

722 store.dme.net

8203 / 8204



E

M

H C

F

A

D

S
SW

G

B

E

M

H C

F

A

D

S
SW

G

B

COMPONENTS > TOOLS & AUXILIAIRES
CA

D
 re

fe
re

nc
e 

po
in

t
COMPONENTS > TOOLS & AUXILIAIRES

LIFTING POINT

•	 Rotates through 360º and pivots 90º
•	 Manufactured from alloy steel, quenched 

and tempered
•	 Tested in accordance with EN1677-1
•	 Certified by DGUV GS-OA 15-04
•	 Load rated parts are 100% magnaflux 

cracked detected
•	 Individual forged parts and cap screw are 

traceable to Test Certification
•	 Bolt threads are metric
•	 Proof tested to 2.5 times the WLL (Working 

Load Limit)
•	 Fatigue rated to 20,000 cycles at 1.5 times 

the WLL
•	 All YOKE Lifting points meet or exceed all 

the requirements of ASME B30.26
•	 Quick and simple assembly, just a tapped 

hole is required

Metric
REF

Working 
load limit
(tonnes)

M

A B C D E F G H S sw Torque 
in
Nn

N.W
kg

Thread

mm mm
8211003 0.3 M8x1.25 30 35 35 10 11 85 55 29 6 13 30 0.2
8211006 0.63 M10x1.5 30 35 36 10 16 85 55 29 6 17 60 0.3
8211010 1 M12x1.75 33 37 44 14 18 98 57 36 8 19 100 0.5
8211012 1.2 M14x2 33 37 45 14 21 98 57 36 10 22 120 0.5
8211015 1.5 M16x2 33 37 46 14 24 98 57 36 10 24 150 0.5
8211020 2 M18x2.5 50 54 57 17 26 140 82 44 12 30 200 1.3
8211025 2.5 M20x2.5 50 54 57 17 30 140 82 44 12 30 250 1.3
8211040 4 M24x3 50 54 59 17 36 140 82 44 14 36 400 1.4
8211042 4 M27x3 60 65 79 23 38 170 99 62 17 41 400 2.8
8211050 5 M30x3.5 60 65 81 23 48 170 99 62 17 46 500 3.1
8211070 7 M36x4 60 65 88 23 54 178 99 65 22 55 700 3.3
8211080 8 M36x4 77 85 101 27 62 225 124 78 22 55 800 5.8
8211100 10 M42x4.5 77 85 104 27 72 225 124 78 24 65 1000 6.3
8211150 15 M42x4.5 95 104 112 36 63 256 158 86 24 65 1500 10.8
8211200 20 M48x5 95 104 120 36 72 259 158 90 27 75 2000 11.6

UNC Thread
REF

Working 
load limit

(lbs)

M

A B C D E F G H S sw
Torque in

Nn
N.W
lbs

Thread

Inch inch
8212010 1 1/2-13UNC 1.30 1.46 1.73 0.53 0.75 3.86 2.24 1.42 5/16 3/4 100 1.1
8212015 1.5 5/8-11UNC 1.30 1.46 1.81 0.53 0.94 3.86 2.24 1.42 3/8 1 5/16 150 1.1
8212020 2.5 3/4-10UNC 1.97 2.13 2.20 0.65 1.10 5.51 3.23 1.73 1/2 1 1/8 250 2.9
8212025 2.5 7/8-9UNC 1.97 2.13 2.28 0.65 1.10 5.51 3.23 1.73 5/8 1 5/16 300 2.9
8212040 4 1-8UNC 1.97 2.13 2.34 0.65 1.61 5.51 3.23 1.73 5/8 1 1/2 400 3.1
8212050 5 1 1/4-7UNC 2.36 2.56 3.23 0.89 1.61 6.69 3.90 2.44 7/8 1 7/8 500 6.8
8212080 8 1 1/2-6UNC 3.03 3.35 4.01 1.04 2.25 8.86 4.88 3.07 1 2 1/4 800 12.8
8212150 15 1 3/4-5UNC 3.74 4.09 4.48 1.42 2.63 10.08 6.22 3.39 1 2 5/8 1500 24.0
8212200 20 2-4.5UNC 3.74 4.09 4.76 1.42 3 10.20 6.22 3.54 1 1/4 3 2000 25.5

RFID 
equipped

90° pivot

360°rotation

HOIST RINGS

723store.dme.net

8211 / 8212



R
D

S
SW

B
F

C

E

H

M
A
G

R
D

S
SW

B
F

C

E

H

M
A
G

180° pivot

COMPONENTS > TOOLS & AUXILIAIRES

CA
D

 re
fe

re
nc

e 
po

in
t

COMPONENTS > TOOLS & AUXILIAIRES

•	 Rotates through 360º and pivots 90º
•	 Manufactured from alloy steel, quenched 

and tempered
•	 Tested in accordance with EN1677-1
•	 Certified by DGUV GS-OA 15-04
•	 Load rated parts are 100% magnaflux 

cracked detected
•	 Individual forged parts and cap screw are 

traceable to Test Certification
•	 Bolt threads are metric
•	 Proof tested to 2.5 times the WLL (Working 

Load Limit)
•	 Fatigue rated to 20,000 cycles at 1.5 times 

the WLL
•	 All YOKE Lifting points meet or exceed all 

the requirements of ASME B30.26
•	 Quick and simple assembly, just a tapped 

hole is required

ANCHOR POINT
HOIST RINGS

Metric
REF

Working 
load limit
(tonnes)

M

A B C D E F G H S sw
Torque in

Nn
N.W
kg

Thread

Inch MM
8231005 0.5 M8x1.25 33 42 28 11 12 80 58 23 6 13 30 0.3

8231007 0.7 M10x1.5 33 41 29 11 15 80 58 23 6 17 60 0.3

8231010 1.0 M12x1.75 33 40 31 11 20 80 58 23 8 19 100 0.3

8231015 1.5 M14x2 50 56 45 17 21 117 90 36 10 22 120 0.9

8231020 2.0 M16x2 50 54 46 17 24 117 90 36 10 24 150 0.9

8231025 2.5 M18x2.5 65 78 57 20 26 153 108 44 12 30 200 1.9

8231030 3.0 M20x2.5 50 52 49 17 30 117 90 36 12 30 250 1.0

8231050 5.0 M24x3 72 81 59 25 36 163 125 44 14 36 400 2.6

8231056 5.6 M27x3 87 86 79 30 38 204 148 62 17 41 400 4.9

8231078 7.8 M30x3.5 87 94 81 30 48 204 148 62 17 46 500 5.0

8231125 12.5 M36x4 110 112 98 36 54 247 188 75 22 55 1000 9.6

8231156 15.6 M42x4.5 110 101 108 36 63 247 188 83 24 65 1500 10.9

8231200 20.0 M48x5 110 97 113 36 72 248 188 83 27 75 2000 11.6

8231220 22.0 M56x5.5 123 116 121 36 84 274 202 91 27 85 2100 15.0

8231225 22.5 M64x6 123 111 126 36 100 274 202 91 32 95 2200 16.3

UNC 
Thread
REF

Working 
load limit
(tonnes)

M

A B C D E F G H R S SW Torque 
in
Nn

N.W
lbs

Thread

Inch INCH
8232010 0.8 1/2-13UNC 1.30 1.57 1.20 0.41 0.81 3.17 2.28 0.90 0.67 5/16 3/4 100 1.8

8232020 1.6 5/8-11UNC 1.97 2.13 1.81 0.65 1.13 4.61 3.54 1.42 1.06 3/8 15/16 150 2.0

8232030 2.4 3/4-10UNC 1.97 2.07 1.89 0.65 1.54 4.61 3.54 1.42 1.06 1/2 1 1/8 250 2.2

8232038 3.0 7/8-9UNC 2.56 2.99 2.28 0.79 1.42 6.02 4.25 1.73 1.34 5/8 15/16 300 4.3

8232050 4.5 1-8UNC 2.81 3.17 2.34 0.98 1.61 6.38 4.92 1.73 1.46 5/8 1 1/2 400 5.7

8232078 6.25 1 1/4-7UNC 3.43 3.66 2.23 1.18 2.09 8.07 5.83 2.44 1.79 7/8 1 7/8 500 11.0

8232125 10.0 1 1/2-6UNC 4.29 4.38 3.87 1.42 2.40 9.92 7.40 3.07 2.22 1 2 1/4 800 21.2

8232200 16 2-4.5UNC 4.61 3.80 4.46 1.42 3 9.93 7.71 3.35 2.38 1 1/4 3 2000 25.6

RFID 
equipped

360°rotation

724 store.dme.net

8231 / 8232



COMPONENTS > TOOLS & AUXILIAIRES
CA

D
 re

fe
re

nc
e 

po
in

t
COMPONENTS > TOOLS & AUXILIAIRES

HOIST RINGS

•	 Rotates through 360º and pivots 90º
•	 Manufactured from alloy steel, quenched 

and tempered
•	 Tested in accordance with EN1677-1
•	 Certified by DGUV GS-OA 15-04
•	 Load rated parts are 100% magnaflux 

cracked detected
•	 Individual forged parts and cap screw are 

traceable to Test Certification
•	 Bolt threads are metric
•	 Proof tested to 2.5 times the WLL (Working 

Load Limit)
•	 Fatigue rated to 20,000 cycles at 1.5 times 

the WLL
•	 All YOKE Lifting points meet or exceed all 

the requirements of ASME B30.26
•	 Quick and simple assembly, just a tapped 

hole is required

KEY EYE POINT

Metric
REF 

Working 
load limit
(tonnes)

M

A B C D E F G H J S W
Torque in

Nn
N.W
kg

Thread

Inch mm
8291K003 0.3 M8x1.25 38 25 9 9 12 25 24 6 41 6 44 10 0.1

8291K004 0.4 M10x1.5 38 25 9 9 15 25 24 6 41 6 44 10 0.1

8291K007 0.75 M12x1.75 45 30 10 11 18 33 30 9 47 8 52 10 0.2

8291K015 1.5 M16x2 52 35 14 13 24 25 34 11 56 10 61 30 0.4

8291K023 2.3 M20x2.5 60 40 16 15 30 44 37 15 65 12 70 70 0.6

8291K032 3.2 M24x3 72 49 19 18 36 53 47 19 78 14 84 150 1.1

8291K045 4.5 M30x3.5 91 61 24 22 45 62 59 23 95 17 105 350 2.1

8291K070 7.0 M36x4 110 73 29 27 54 76 72 31 114 22 126 410 3.7

8291K090 9.0 M42x4.5 128 83 34 32 63 89 81 38 132 24 147 550 5.8

8291K120 12.0 M48x5 145 95 38 37 72 105 94 44 150 27 168 550 8.6

8291K140 16.0 M56x5.5 148 102 40 43 84 124 92 49 166 27 178 800 11.0

8291K150 18.0 M64x6 148 102 40 43 96 124 92 49 166 27 178 800 11.8

UNC 
Thread 
REF

Working 
load limit
(tonnes)

M

A B C D E F G H J S W
Torque in

Nn
N.W
lbs

Thread

Inch inch
8292K003 0.3 5/16-18UNC 1.49 1.00 0.33 0.37 0.47 0.99 0.92 0.24 1.60 0.25 1.73 10 0.3
8292K004 0.4 3/8-16UNC 1.49 1.00 0.33 0.37 0.55 0.99 0.92 0.24 1.60 0.25 1.73 10 0.3
8292K007 0.75 1/2-13UNC 1.79 1.19 0.39 0.43 0.75 1.30 1.16 0.37 1.85 0.31 2.05 10 0.5
8292K015 1.5 5/8-11UNC 2.06 1.39 0.55 0.51 0.94 1.38 1.32 0.45 2.20 0.37 2.40 30 0.9
8292K023 2.3 3/4-10UNC 2.38 1.59 0.63 0.58 1.14 1.74 1.47 0.60 2.56 0.5 2.76 70 1.4
8292K025 2.3 7/8-9UNC 2.38 1.59 0.63 0.58 1.30 1.74 1.47 0.60 2.56 0.5 2.76 150 1.5
8292K032 3.2 1-8UNC 2.85 1.91 0.75 0.70 1.52 2.08 1.79 0.75 3.07 0.56 3.31 150 2.5
8292K045 4.5 1 1/4-7UNC 3.57 2.38 0.94 0.88 1.89 2.43 2.23 0.91 3.75 0.63 4.13 350 4.7
8292K070 7 1 1/2-6UNC 4.32 2.85 1.14 1.05 2.24 2.99 2.71 1.20 4.49 0.87 4.96 410 8.7
8292K090 9 1 3/4-5UNC 5.02 3.26 1.34 1.26 2.64 3.51 3.09 1.50 5.20 1.00 5.79 550 12.7
8292K120 12 2-4.5UNC 5.70 3.74 1.50 1.44 3.03 4.12 3.69 1.75 5.91 1.00 6.61 550 19.6

RFID 
equipped

360°rotation

725store.dme.net

8291K / 8292K



E

M

K

C
H

BB

AADD

FF

G

E

M

K

C
H

BB

AADD

FF

G

COMPONENTS > TOOLS & AUXILIAIRES

CA
D

 re
fe

re
nc

e 
po

in
t

COMPONENTS > TOOLS & AUXILIAIRES

SUPER POINT

•	 Rotates through 360º and pivots 90º
•	 Manufactured from alloy steel, 

quenched and tempered
•	 Tested in accordance with EN1677-1
•	 Certified by DGUV GS-OA 15-04
•	 Load rated parts are 100% mag-

naflux cracked detected
•	 Individual forged parts and cap 

screw are traceable to Test Certi-
fication

•	 Bolt threads are metric
•	 Proof tested to 2.5 times the WLL 

(Working Load Limit)
•	 Fatigue rated to 20,000 cycles at 1.5 

times the WLL
•	 All YOKE Lifting points meet or ex-

ceed all the requirements of ASME 
B30.26

•	 Quick and simple assembly, just a 
tapped hole is required

Metric 
REF

Working 
load limit
(tonnes)

M

G C K H E F D B A
Torque in

Nn
N.W
kg

Thread

Inch mm
825100701 0.5 M10x1.5 36.5 48 34 20.5 18 101 13 53 35 10-40 0.4
825100702 0.7 M12x1.75 36.5 48 34 20.5 18 101 13 53 35 15-40 0.4
825100703 0.7 M12x1.75 36.5 48 34 20.5 25 101 13 53 35 15-40 0.4
825100704 1 M14x2 36.5 48 34 20.5 20 101 13 53 35 30-40 0.4
825101401 1.4 M16x2 36.5 48 34 20.5 20 101 13 53 35 45-130 0.44
825101402 1.4 M16x2 36.5 48 34 20.5 24 101 13 53 35 45-130 0.5
825101403 1.4 M16x2 36.5 48 34 20.5 30 101 13 53 35 75-130 0.5
825101404 1.7 M20x2.5 36.5 48 34 20.5 30 101 13 53 35 90-130 0.5
825101405 1.7 M24x3 36.5 48 34 20.5 30 101 13 53 35 100-170 0.5
825102501 2.5 M20x2.5 52 68 46 28 30 127 16 59 35 100-170 1
825102502 2.5 M20x2.5 52 68 46 28 40 127 16 59 35 100-170 1
825102503 2.5 M20x2.5 52 68 46 28 50 127 16 59 35 100-170 1.1
825102504 2.5 M20x2.5 52 68 46 28 70 127 16 59 35 190-280 1.1
825104001 4 M24x3 57 75 50 34.5 30 148 19 73 40 190-280 1.5
825104002 4 M24x3 57 75 50 34.5 36 148 19 73 40 190-280 1.5
825104003 4 M24x3 57 75 50 34.5 45 148 19 73 40 190-280 1.5
825104004 4 M24x3 57 75 50 34.5 50 148 19 73 40 190-280 1.5
825104005 4 M30x3.5 57 75 50 34.5 35 148 19 73 40 190-280 1.5
825106701 6.7 M30x3.5 70 95 65 41 35 163 19 68 40 230-400 2.4
825106702 6.7 M30x3.5 70 95 65 41 45 163 19 68 40 230-400 2.4
825106703 6.7 M30x3.5 70 95 65 41 50 163 19 68 40 230-400 2.5
825106704 6.7 M30x3.5 70 95 65 41 60 163 19 68 40 230-400 2.5
825108001 8 M30x3.5 81 106 75 48 35 201 22 95 50 270-600 3.6
825108002 8 M30x3.5 81 106 75 48 45 201 22 95 50 270-600 3.7
825110001 10 M36x4 81 106 75 48 50 201 22 95 50 270-600 3.8
825110002 10 M36x4 81 106 75 48 54 201 22 95 50 270-700 3.9
825112501 12.5 M42x4.5 81 106 75 48 50 201 22 95 50 270-700 3.9
825112502 12.5 M42x4.5 81 106 75 48 60 201 22 95 50 270-700 4
825112503 12.5 M42x4.5 81 106 75 48 63 201 22 95 50 270-700 4
825112504 12.5 M45x4.5 104 106 75 48 60 201 22 95 50 270-700 4.1
825112505 12.5 M48x5 104 106 75 48 72 201 22 95 50 270-700 4.4
825117001 13 M42x4.5 104 127 95 58 60 256 32 129 70 350-800 7.4
825117002 17 M45x4.5 104 127 95 58 60 256 32 129 70 350-800 7.5
825117003 17 M48x5 104 127 95 58 60 256 32 129 70 350-800 7.6
825117004 17 M48x5 104 127 95 58 72 256 32 129 70 350-800 7.7
825117005 18 M56x5.5 104 127 95 58 78 256 32 129 70 350-900 8.1
825117006 18 M56x5.5 104 127 95 58 84 256 32 129 70 350-900 8.1

HOIST RINGS

RFID 
equipped

230° pivot

360°rotation

726 store.dme.net

8251 / 8252



COMPONENTS > TOOLS & AUXILIAIRES
CA

D
 re

fe
re

nc
e 

po
in

t
COMPONENTS > TOOLS & AUXILIAIRES

UNC Thread 
REF

Working 
load limit
(tonnes)

M

G C K H E F D B A
Torque in 

Nn
N.W
lbs

Thread

Inch Inch
825200701 0.5 3/8-16UNC 1.44 1.89 1.34 0.81 0.56 3.98 .051 2.09 1.38 10-40 1

825200702 0.7 1/2-13UNC 1.44 1.89 1.34 0.81 0.76 3.98 .051 2.09 1.38 15-40 1

825201402 1.4 5/8-11UNC 1.44 1.89 1.34 0.81 0.94 3.98 0.51 2.09 1.38 45-130 1

825202501 2.5 3/4-10UNC 2.05 2.68 1.81 1.1 1.13 5 0.63 2.32 1.38 100-170 2.1

825204002 4 1-8UNC 2.24 2.95 1.97 1.36 1.5 5.83 0.75 2.87 1.57 190-280 3.3

825206702 6.7 1 1/4-7UNC 2.76 3.74 2.56 1.61 1.88 6.42 0.75 2.68 1.57 230-400 5.3

825208002 8 1 1/4-7UNC 3.19 4.17 2.95 1.89 1.88 7.91 0.87 3.74 1.97 270-600 8.1

825210002 10 1 1/2-6UNC 3.19 4.17 2.95 1.89 2.25 7.91 0.87 3.74 1.97 270-600 8.3

825212503 12.5 1 3/4-5UNC 3.19 4.17 2.95 1.89 2.63 7.91 0.87 3.74 1.97 270-700 8.8

825212505 12.5 2-4.5UNC 3.19 4.17 2.95 1.89 3 7.91 0.87 3.74 1.97 270-700 9.7

825217004 17 2-4.5UNC 4.09 5 3.74 2.28 3 10.08 1.26 5.08 2.76 350-800 16.7

825217006 18 2 1/4-4.5UNC 4.09 5 3.74 2.28 3.38 10.08 1.26 5.08 2.76 350-900 17.8

825220001 20 2 1/2-2UNC 4.09 5 3.74 2.28 3.75 10.08 1.26 5.08 2.76 350-900 19.6

825228001 28 2 1/2-4UNC 5.08 6.85 4.53 3.07 3.75 12.01 1.42 5.16 3.15 500-1000 36.1

825235001 35 3 1/2-4UNC 5.83 7.36 5.31 3.35 3.75 14.41 1.77 7.05 3.94 500-1400 55.7

Metric 
REF

Working 
load limit
(tonnes)

M

G C K H E F D B A
Torque in

Nn
N.W
kg

Thread

Inch mm
825120001 20 M64x6 104 127 95 58 96 256 32 129 70 350-900 8.9
825120002 20 M64x6 104 127 95 58 110 256 32 129 70 350-900 9.3
825128002 28 M72x6 129 174 115 78 120 305 36 131 80 500-1200 17.7
825128003 28 M80x6 129 174 115 78 150 305 36 131 80 500-1200 19.6
825135001 35 M80x6 148 187 135 85 120 366 45 179 100 500-1400 25.3
825135002 35 M90x6 148 187 135 85 150 366 45 179 100 500-1500 27.8
825140001 40 M80x6 170 210 145 83 120 340 45 130 90 500-1500 31.9
825140002 40 M90x6 170 210 145 83 115 340 45 130 90 500-1500 33.6
825140003 40 M90x6 170 210 145 83 150 340 45 130 90 500-1500 34.2
825140004 40 M100x6 170 210 145 83 150 340 45 130 90 500-1700 35.2

SUPER POINT
HOIST RINGS

727store.dme.net

8251 / 8252



COMPONENTS > TOOLS & AUXILIAIRES

CA
D

 re
fe

re
nc

e 
po

in
t

COMPONENTS > TOOLS & AUXILIAIRES

Number of Legs 1 2 1 2 2 2 2 3-4 3-4 3-4
Load Direction 0o 0o 90o 90o 0-45o 45o-60o unsymm 0-45o 45o-60o unsymm

REF Thread WLL (t)

8203004 M8 0.5 1 0.5 1 0.7 0.5 0.5 1.05 0.75 0.5

8203005 M10 0.55 1.1 0.55 1.1 0.77 0.55 0.55 1.16 0.83 0.55

8203005L M10 0.55 1.1 0.55 1.1 0.77 0.55 0.55 1.16 0.83 0.55

8203010 M12 1.3 2.6 1.3 2.6 1.82 1.3 1.3 2.73 1.95 1.3

8203010L M12 1.3 2.6 1.3 2.6 1.82 1.3 1.3 2.73 1.95 1.3

8203019 M16 2.4 4.8 2.4 4.8 3.36 2.4 2.4 5.04 3.6 2.4

8203019L M16 2.4 4.8 2.4 4.8 3.36 2.4 2.4 5.04 3.6 2.4

8203021 M20 2.7 5.4 2.7 5.4 3.78 2.7 2.7 5.67 4.05 2.7

8203021L M20 2.7 5.4 2.7 5.4 3.78 2.7 2.7 5.67 4.05 2.7

8203030 M20 3.75 7.5 3.75 7.5 5.25 3.75 3.75 7.88 5.63 3.75

8203030L M20 3.75 7.5 3.75 7.5 5.25 3.75 3.75 7.88 5.63 3.75

8203042 M24 5.25 10.5 5.25 10.5 7.35 5.25 5.25 11.03 7.88 5.25

8203042L M24 5.25 10.5 5.25 10.5 7.35 5.25 5.25 11.03 7.88 5.25

8203070 M30 8.75 17.5 8.75 17.5 12.25 8.75 8.75 18.38 13.13 8.75

8203110 M36 13.75 27.5 13.75 27.5 19.25 13.75 13.75 28.88 20.63 13.75

8203125 M42 15.6 31.2 15.6 31.2 21.84 15.6 15.6 32.76 23.4 15.6

8203135 M48 16.9 33.8 16.9 33.8 23.66 16.9 16.9 35.49 25.35 16.9

8203155 M56 19.4 38.8 19.4 38.8 27.16 19.4 19.4 40.74 29.1 19.4

8203223 M64 27.9 55.8 27.9 55.8 39.06 27.9 27.9 59.59 41.85 27.9

8204004 5/16 0.36 0.72 0.36 0.72 0.5 0.36 0.36 0.76 0.54 0.36

8204005 3/8 0.45 0.9 0.45 0.9 0.63 0.45 0.45 0.95 0.68 0.45

8204010 1/2 1.1 2.2 1.1 2.2 1.54 1.1 1.1 2.31 1.65 1.1

8204010L 1/2 1.1 2.2 1.1 2.2 1.54 1.1 1.1 2.31 1.65 1.1

8204019 5/8 1.8 3.6 1.8 3.6 2..52 1.8 1.8 3.78 2.7 1.8

8204019L 5/8 1.8 3.6 1.8 3.6 2.52 1.8 1.8 3.78 2.7 1.8

8204021 3/4 2.2 4.4 2.2 4.4 3.08 2.2 2.2 4.62 3.3 2.2

8204021L 3/4 2.2 4.4 2.2 4.4 3.08 2.2 2.2 4.62 3.3 2.2

8204030 3/4 3.1 6.2 3.1 6.2 4.34 3.1 3.1 6.51 4.65 3.1

8204030L 3/4 3.1 6.2 3.1 6.2 4.34 3.1 3.1 6.51 4.65 3.1

8204042 7/8 3.6 7.2 3.6 7.2 5.04 3.6 3.6 7.56 5.4 3.6

8204042L 7/8 3.6 7.2 3.6 7.2 5.04 3.6 3.6 7.56 5.4 3.6

8204045 1 4.5 9 4.5 9 6.3 4.5 4.5 9.45 6.75 4.5

8204045L 1 4.5 9 4.5 9 6.3 4.5 4.5 9.45 6.75 4.5

8204070 1 1/4 6.8 13.6 6.8 13.6 9.52 6.8 6.8 14.28 10.2 6.8

8204125 1 1/2 10.9 21.8 10.9 21.8 15.26 10.9 10.9 22.89 16.35 10.9

8204135 2 13.6 27.2 13.6 27.2 19.04 13.6 13.6 28.56 20.4 13.6

M
et

ric
 T

hr
ea

d 
(8

21
1)

UN
C 

Th
re

ad
 (8

21
2)HO

IS
T 

RI
N

G 
W

IT
H 

AL
LO

Y 
ST

EE
L 

W
AS

HE
R

HOIST RINGS
LIFT SUGGESTIONS

728 store.dme.net



COMPONENTS > TOOLS & AUXILIAIRES
CA

D
 re

fe
re

nc
e 

po
in

t
COMPONENTS > TOOLS & AUXILIAIRES

Number of Legs 1 2 1 2 2 2 2 3-4 3-4 3-4
Load Direction 0o 0o 90o 90o 0-45o 45o-60o unsymm 0-45o 45o-60o unsymm

REF Thread WLL (t)

8211003 M8 0.3 0.6 0.3 0.6 0.42 0.3 0.3 0.63 0.45 0.3

8211006 M10 0.63 1.26 0.63 1.26 0.88 0.63 0.63 1.32 0.95 0.63

8211010 M12 1 2 1 2 1.4 1 1 2.1 1.5 1

8211012 M14 1.2 2.4 1.2 2.4 1.7 1.2 1.2 2.5 1.8 1.2

8211015 M16 1.5 3 1.5 3 2.1 1.5 1.5 3.1 2.2 1.5

8211020 M18 2 4 2 4 2.8 2 2 4.2 3 2

8211025 M20 2.5 5 2.5 5 3.5 2.5 2.5 5.2 3.7 2.5

8211040 M24 4 8 4 8 5.6 4 4 8.4 6 4

8211042 M27 4 8 4 8 5.6 4 4 8.4 6 4

8211050 M30 5 10 5 10 7 5 5 10.5 7.5 5

8211070 M36 7 14 7 14 9.8 7 7 14.7 10.5 7

8211080 M36 8 16 8 16 11.2 8 8 16.8 12 8

8211100 M42 10 20 10 20 14 10 10 21 15 10

8211150 M42 15 30 14 30 21 15 15 31.5 22.5 15

8211200 M48 20 40 16 40 28 20 20 42 30 20

8212010 1/2 1 2 1 2 1.4 1 1 2.1 1.5 1

8212015 5/8 1.5 3 1.5 3 2.1 1.5 1.5 3.1 2.2 1.5

8212020 3/4 2.5 5 2.5 5 3.5 2.5 2.5 5.2 3.7 2.5

8212025 7/8 2.5 5 2.5 5 3.5 2.5 2.5 5.2 3.7 2.5

8212040 1 4 8 4 8 5.6 4 4 8.4 6 4

8212050 1 1/4 5 10 5 10 7 5 5 10.5 7.5 5

8212080 1 1/2 8 16 8 16 11.2 8 8 16.8 12 8

8212150 1 3/4 15 30 15 30 21 15 15 31.5 22.5 15

8212200 2 20 40 20 40 28 20 20 42 30 20

8231005 M8 0.8 1.6 0.5 1 0.7 0.5 0.5 1.1 0.8 0.5

8231007 M10 1.2 2.4 0.7 1.4 1 0.7 0.7 1.5 1.1 0.7

8231010 M12 1.5 3 1 2 1.4 1 1 2.1 1.5 1

8231015 M14 2.4 4.8 1.5 3 2.1 1.5 1.5 3.2 2.3 1.5

8231020 M16 3.2 6.4 5 4 2.8 2 2 4.2 3 2

8231025 M18 5 10 2.5 5 3.5 2.5 2.5 5.3 3.8 2.5

8231030 M20 4.5 9 3 6 4.2 3 3 6.3 4.5 3

8231050 M24 9 18 5 10 7 5 5 10.5 7.5 5

8231056 M27 9.5 19 5.6 11.2 7.8 5.6 5.6 11.8 8.4 5.6

8231078 M30 12 24 7.8 15.6 10.9 7.8 7.8 16.4 11.7 7.8

8231125 M36 14 28 12.5 25 17.5 12.5 12.5 26.3 18.8 12.5

8231156 M42 16 32 15.6 31.2 21.8 15.6 15.6 32.8 23.4 15.6

8231200 M48 20 40 20 40 28 20 20 42 30 20

8231220 M56 22 44 22 44 30.8 22 22 46.2 33 22

8231225 M64 22.5 45 22.5 40 28 20 20 42 30 20

8232010 1/2 1.2 2.4 0.8 1.6 1.12 0.8 0.8 1.68 1.2 0.8

8232020 5/8 2.6 5.2 1.6 3.2 2.24 1.6 1.6 3.36 2.4 1.6

8232030 3/4 3.6 7.2 2.4 4.8 3.36 2.4 2.4 5.04 3.6 2.4

8232038 7/8 4.5 9 3 6 4.2 3 3 6.3 4.5 3

8232050 1 7.2 14.4 4 8 5.6 4 4 8.4 6 4

8232078 1 1/4 9.6 19.2 6.25 12.5 8.75 6.25 6.25 13.13 9.38 6.25

8232125 1 1/2 11 22 10 20 14 10 10 21 15 10

8232200 2 16 32 16 32 22.4 16 16 33.6 24 16

M
et

ric
 T

hr
ea

d 
(8

21
1)

UN
C 

Th
re

ad
 (8

21
2)

M
et

ric
 T

hr
ea

d 
(8

23
1)

UN
C 

Th
re

ad
 (8

23
2)

LI
FT

IN
G 

PO
IN

T
AN

CH
OR

 P
OI

N
T

HOIST RINGS
LIFT SUGGESTIONS

729store.dme.net



COMPONENTS > TOOLS & AUXILIAIRES

CA
D

 re
fe

re
nc

e 
po

in
t

COMPONENTS > TOOLS & AUXILIAIRES

Number of Legs 1 2 1 2 2 2 2 3-4 3-4 3-4
Load Direction 0o 0o 90o 90o 0-45o 45o-60o unsymm 0-45o 45o-60o unsymm

REF Thread WLL (t)

8251007xx

M10 1 2 0.5 1 0.7 0.5 0.5 1 0.75 0.5

M12 1.4 2 0.7 1.4 1 0.7 0.7 1.4 1 0.7

M14 2 4 1 2 1.4 1 1 2.12 1.5 1

8251014xx

M16 2.8 5.6 1.4 2.8 2 1.4 1.4 3 2.12 1.4

M20 3.4 6.8 1.7 3.4 2.4 1.7 1.7 3.55 2.5 1.7

M24 3.4 6.8 1.7 3.4 2.4 1.7 1.7 3.55 2.5 1.7

8251025xx M20 5 10 2.5 5 3.55 2.5 2.5 5.3 3.75 2.5

8251040xx
M24 8 16 4 8 5.6 4 4 8.5 6 4

M30 8 16 4 8 5.6 4 4 8.5 6 4

8251067xx M30 12 24 6.7 13.4 9.5 6.7 6.7 14 10 6.7

8251080xx M30 12 24 8 16 11.2 8 8 16 12 8

8251100xx M36 15 30 10 20 14 10 10 21.2 15 10

8251125xx

M42 15 30 12.5 25 17 12.5 12.5 25 18 12.5

M45 15 30 12.5 25 17 12.5 12.5 25 18 12.5

M48 15 30 12.5 25 17 12.5 12.5 25 18 12.5

8251170xx

M42 20 40 13 26 18 13 13 27 19 13

M45 25 50 17 34 23.5 17 17 35 25 17

M48 25 50 17 34 23.5 17 17 35 25 17

M56 25 50 18 36 25 18 18 37.5 26.5 18

8251200xx M64 25 50 20 40 28 20 20 42.5 30 20

8251280xx
M72 32.5 65 28 56 39 28 28 58 42 28

M80 32.5 65 28 56 39 28 28 58 42 28

8251350xx
M80 40 80 35 70 49 35 35 74 52.5 35

M90 40 80 35 70 49 35 35 74 52.5 35

8251400xx

M80 50 100 40 80 56 40 40 84 60 40

M90 50 100 40 80 56 40 40 84 60 40

M100 50 100 40 80 56 40 40 84 60 40

825200701 3/8 1 2 0.5 1 0.7 0.5 0.5 1 0.75 0.5

825200702 1/2 1.4 2.8 0.7 1.4 1 0.7 0.7 1.4 1 0.7

825201402 5/8 2.8 5.6 1.4 2.8 2 1.4 1.4 3 2.12 1.4

825202501 3/4 5 10 2.5 5 3.55 2.5 2.5 5.3 3.75 2.5

825204002 1 8 16 4 8 5.6 4 4 8.5 6 4

825206702 1 1/4 12 24 6.7 13.4 9.5 6.7 6.7 14 10 6.7

825208002 1 1/4 12 24 8 16 11.2 8 8 16 12 8

825210002 1 1/2 15 30 10 20 14 10 10 21.2 15 10

825212503 1 3/4 15 30 12.5 25 17 12.5 12.5 25 18 12.5

825212505 2 15 30 12.5 25 17 12.5 12.5 25 18 12.5

825217004 2 25 50 17 34 23.5 17 17 35 25 17

825217006 2 1/4 25 50 18 36 25 18 18 37.5 26.5 18

825220001 2 1/2 25 50 20 40 28 20 20 42.5 30 20

825228001 2 1/2 32.5 65 28 56 39 28 28 58 42 28

825235001 3 1/2 40 80 35 70 49 35 35 74 52.5 35

UN
C 

Th
re

ad
 (8

25
2)

UN
C 

Th
re

ad
 (8

25
1)

SU
PE

R 
PO

IN
T

HOIST RINGS
LIFT SUGGESTIONS

730 store.dme.net



 b1
 

 l1 

 a2 

 a1  R5(4
x) 

 1.
00

 

 r1 

 h1
 

 d1  d2 

 l3
 

 l2
 

 a3
 

 b1
 

 l1 

 a2 

 a1  R5(4
x) 

 1.
00

 

 r1 

 h1
 

 d1  d2 

 l3
 

 l2
 

 a3
 

REF l1 b1 h1 r1 a1 a2 a3 d1 d2 l2 l3
K73122050 50,0 20 12 30 10 24 0,9 M6 M6 9 8
K73162563 63,0 25 16 38 13 30 1,5 M8 M8 11 11
K73203280 80,0 32 20 48 15 35 2 M10 M10 13 13

K73

COMPONENTS > TOOLS & AUXILIAIRES
CA

D
 re

fe
re

nc
e 

po
in

t
COMPONENTS > TOOLS & AUXILIAIRES

Number of Legs 1 2 1 2 2 2 2 3-4 3-4 3-4
Load Direction 0o 0o 90o 90o 0-45o 45o-60o unsymm 0-45o 45o-60o unsymm

REF Thread WLL (t)
8291K003 M8 1 2 0.3 0.6 0.42 0.3 0.3 0.63 0.63 0.3

8291K004 M10 1 2 0.4 0.8 0.56 0.4 0.4 0.84 0.84 0.4

8291K007 M12 2 4 0.75 1.5 1 0.75 0.75 1.58 1.58 0.75

8291K015 M16 4 8 1.5 3 2.1 1.5 1.5 3.15 3.15 1.5

8291K023 M20 6 12 2.3 4.6 3.2 2.3 2.3 4.8 4.8 2.3

8291K032 M24 8 16 3.2 6.4 4.5 3.2 3.2 6.7 6.7 3.2

8291K045 M30 12 24 4.5 9 6.3 4.5 4.5 9.4 9.4 4.5

8291K070 M36 16 32 7 14 9.8 7 7 14.7 14.7 7

8291K090 M42 24 48 9 18 12.6 9 9 18.9 18.9 9

8291K120 M48 32 64 12 24 16.8 12 12 25.2 25.2 12

8291K140 M56 34 68 16 32 22.4 16 16 33.6 33.6 16

8291K150 M64 36 72 18 36 25.2 18 18 37.8 37.8 18

8292K003 5/16 1 2 0.3 0.6 0.42 0.3 0.3 0.63 0.45 0.3

8292K004 3/8 1 2 0.4 0.8 0.56 0.4 0.4 0.8 0.6 0.4

8292K007 1/2 2 4 0.75 1.5 1 0.75 0.75 1.5 1.1 0.75

8292K015 5/8 4 8 1.5 3 2.1 1.5 1.5 3.1 2.2 1.5

8292K023 3/4 6 12 2.3 4.6 3.2 2.3 2.3 4.8 3.4 2.3

8292K025 7/8 6 12 2.3 4.6 3.2 2.3 2.3 4.8 3.4 2.3

8292K032 1 8 16 3.2 6.4 4.5 3.2 3.2 6.7 4.8 3.2

8292K045 1 1/4 12 24 4.5 9 6.3 4.5 4.5 9.4 6.7 4.5

8292K070 1 1/2 16 32 7 14 9.8 7 7 14.7 10.5 7

8292K090 1 3/4 24 48 9 18 12.6 9 9 18.9 13.5 9

8292K120 2 32 64 12 24 16.8 12 12 25 18 12

M
et

ric
 T

hr
ea

d 
(8

29
1)

UN
C 

Th
re

ad
 (8

29
2)

KE
Y 

PO
IN

T
HOIST RINGS
LIFT SUGGESTIONS

TOOL SAFETY DEVICE
SAFETY DEVICES

731store.dme.net

Mat.: 1.2312 / 1080 N/mm2

K73



DME Europe B.V.
Industrieweg 2, BE 2845, Niel, Belgium
dme_europe@dme.net | +32 (0) 15 28 87 30


